
Q.1 राजेश िबंदु A से पि�म की ओर 4 km ड� ाइव करता है और दाएँ मुड़ता है और 8 km ड� ाइव करता है।
वह िफर से दाएँ मुड़ता है और 8 km ड� ाइव करता है। वह िफर से एक और बार दाएँ मुड़ता है और 4 km
ड� ाइव करता है। अंत म� वह दाएँ मुड़ता है और िबंदु B तक प�ँचने के िलए 4 km ड� ाइव करता है। िबंदु A
पर िफर से प�ँचने के िलए उसे िकतनी दूर और िकस िदशा म� ड� ाइव करना चािहए?

Ans 1. 3 km उ�र की ओर

2. 2 km पूव� की ओर

3. 4 km दि�ण की ओर

4. 4 km पि�म की ओर

Question ID : 26433068269
Status : Answered

Chosen Option : 3

Q.2 गिणतीय िच�ो ंके उस सही संयोजन का चयन कर� , िज�� * िच�ो ंके �थान पर �िमक �प से रखे जाने
पर िदया गया समीकरण संतुिलत हो जाएगा।
54 * 6 * 72 * 8 * 3 * 15

Ans 1. +, ÷, ×, +, =

2. ÷, −, −, +, =

3. ÷, +, ÷, −, =

4. ×, −, −, +, =

Q.3 उस समु�य का चयन कर�  िजसम� सं�ाएँ उसी �कार से संबंिधत ह� िजस �कार िदए गए समु�य की
सं�ाएँ संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर संि�याओ ंको िकया
जाना चािहए। उदाहरण के तौर पर 13 - संि�याएँ जैसे िक जोड़ना / घटाना / गुणा करना आिद पूण� 13
पर की जा सकती है। 13 को 1 और 3 म� िवभािजत करके और िफर 1 और 3 पर गिणतीय संि�याओं
को करने की अनुमित नही ंहै।) 
(11, 10, 21)
(14, 6, 160)

Ans 1. (19, 12, 217)

2. (27, 18, 9)

3. (81, 16, 65)

4. (16, 9, 165)

Question ID : 26433056508
Status : Answered

Chosen Option : 1
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Q.4 िदए गए िवक�ो ंम� से कौन-सा वेन आरेख िन�िल�खत वग� के बीच के संबंध को सव��म �प से
दशा�ता है?
�ारक, ताजमहल, �ाइट हाउस

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057663
Status : Answered

Chosen Option : 4

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 26433055955
Status : Answered

Chosen Option : 1
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Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057867
Status : Answered

Chosen Option : 2

Q.7 िकसी कोड भाषा म� 'ELEMENT' को ‘5, 12, 5, 13, 5, 14, 20’ के �प म� िलखा जाता है और
‘ALLOY’ को ‘1, 12,12,15, 25’ के �प म� िलखा जाता है। उसी भाषा म� 'VIBRANIUM' को िकस
�कार िलखा जाएगा?

Ans 1. 22, 9, 2, 14, 18, 1, 9, 21, 13

2. 22, 9, 2, 18, 1, 14, 9, 21, 13

3. 22, 9, 2, 18, 1, 14, 21, 9, 13

4. 22, 9, 2, 18, 14, 1, 9, 21, 13
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Q.8

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057536
Status : Answered

Chosen Option : 1

Q.9 कौन-सा िवक� ��ुत श�ो ंके ऐसे सही �म का �ोतक है, जैसा िक वे िकसी अँ�ेजी श�कोश म�
िदख�?
1 Kelvin
2 Kegel
3 Keto
4 Kennel
5 Kernel

Ans 1. 2,3,1,4,5

2. 1,2,4,5,3

3. 2,1,4,5,3

4. 1,4,3,2,5

Question ID : 26433069260
Status : Answered

Chosen Option : 3
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Q.10

Ans

1. 

2. 

3. 

4. 

Question ID : 26433090224
Status : Answered

Chosen Option : 1

Q.11 उस िवक� का चयन कीिजए, िजसका तीसरे पद से ठीक वही संबंध है, जो संबंध दूसरे पद का पहले
पद से है और वही संबंध छठे पद का पाँचव� पद से है।
3 : 8 :: 6 : ? :: 11 : 1000

Ans 1. 729

2. 512

3. 216 

4. 125

Question ID : 26433056284
Status : Answered

Chosen Option : 4
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Q.12 एक िनि�त कूट भाषा म� ‘SOMEONE’ को ‘1645655’ के �प म� और ‘BRINJAL’ को ‘2995113’ के
�प म� िलखा जाता है। उसी कूट भाषा म� ‘NOVEMBER’ को कैसे िलखा जाएगा?

Ans 1. 56454259

2. 56254251

3. 56455259

4. 45253258

Question ID : 26433056215
Status : Answered

Chosen Option : 1

Q.13 उस िवक� का चयन कीिजए जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले
श� से संबंिधत है। (श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श� द म� अ�रो ंकी
सं�ा / �ंजनो ं/ �रो ंकी सं�ा के आधार पर एक-दूसरे से संबंिधत नही ंहोने चािहए।)
बढ़ाना (Increase) : घटाना (Diminish) :: मु�ुराना (Smile) : ?

Ans 1. मायूस होना (Frown)

2. हंसना (Laugh)

3. पलक झपकाना (Wink)

4. िच�ाना (Shout)

Question ID : 26433065623
Status : Answered

Chosen Option : 1

Q.14 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� ��वाचक िच� (?) का �थान लेगी?

25, 30, 35, 38, 41, 46, ?
Ans 1. 50

2. 53

3. 49

4. 51

Question ID : 26433057336
Status : Answered

Chosen Option : 4
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Q.15

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070425
Status : Answered

Chosen Option : 4

Q.16 * िच�ो ंको �मानुसार �ित� थािपत करने और िदए गए समीकरण को संतुिलत करने के िलए गिणतीय
िच�ो ंके सही संयोजन का चयन कर�।
(130 * 4) * 21 * 485 * (28 * 2)

Ans 1. ×, −, =, −, ÷

2. ×, −, =, +, ÷

3. ÷, +, =, −, ×

4. +, −, =, −, ×

Question ID : 26433057652
Status : Answered

Chosen Option : 2
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Q.17 उस िवक� का चयन कर� , जो उन अ�रो ंका �ितिनिध� करता है, जो �र� �थानो ंम� �िमक �प से
बाएँ से दाएँ रखे जाने पर दी गई अ�र �ंखला को पूरा कर� गे।
_ a d _ v k _ a _ d v v _ r a a _ v _ k r

Ans 1. a v r k a d v

2. a v r v a d a

3. a v r a k d v

4. v a r v k d v

Question ID : 26433056788
Status : Answered

Chosen Option : 3

Q.18 A # B का अथ� है 'A, B का िपता है'।
A @ B का अथ� है 'A, B का पु� है'।
A & B का अथ� है 'A, B की बहन है'।
A % B का अथ� है 'A, B की प�ी है'।
यिद W # Q @ T & Y @ M % K, तो K, W से िकस �कार संबंिधत है?

Ans 1. ससुर

2. भाई

3. िपता

4. देवर/जेठ/ननदोई/बहनोई/जीजा/साला

Question ID : 26433079496
Status : Answered

Chosen Option : 1

Q.19 अं�ेजी वण�माला �म म� ��थित के आधार पर, िन�िल�खत म� से तीन अ�र-समूह िकसी न िकसी �कार
से एक समान ह� और एक िभ� है। िभ� अ�र-समूह का चयन कर�।

Ans 1. PLJG

2. ZTSQ

3. QMKH

4. WSQN

Question ID : 26433065657
Status : Answered

Chosen Option : 2

Q.20

Ans 1.  59

2.  65

3.  63

4. 56

Question ID : 26433057626
Status : Answered

Chosen Option : 1
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Q.21 यिद P का अथ� ‘×’ है, Q का अथ� ‘÷’ है, R का अथ� ‘+’ है, और S का अथ� ‘-’ है तो िन�िल�खत समीकरण
म� '?' के �थान पर �ा आएगा? 
94 R 16 Q 2 P 7 S 64 R 13 P 2 = ?

Ans 1.  112

2.  108

3.  118

4.  120

Question ID : 26433057617
Status : Answered

Chosen Option : 1

Q.22 एक िनि�त कूट भाषा म� 'HAPPY' को 'JCRRA' िलखा जाता है और 'MAGIC' को 'OCIKE' िलखा
जाता है। उस भाषा म� 'LEVEL' को कैसे िलखा जाएगा?

Ans 1. MFMEO 

2. NGXGN 

3. MHNGO 

4. OGYEN

Question ID : 26433056561
Status : Answered

Chosen Option : 2

Q.23 यिद A का अथ� '+' है, B का अथ� '×' है, C का अथ� '-' है और D का अथ� '÷' है, तो िन�िल�खत �ंजक का
मान �ा होगा?
23 C 46 D 23 B 3 A 65

Ans 1. 85

2. 87

3. 84

4. 82

Question ID : 26433068706
Status : Answered

Chosen Option : 4

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 26433068730
Status : Answered

Chosen Option : 1
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Q.25 सात ��� A, B, C, D, E, F और G सीधी पं�� म� उ�र की ओर मुख करके बैठे ह�। C के बाई ंओर
मा� दो ��� बैठते ह�। A और B के म� मा� दो ��� बैठते ह�। B, A के बाई ंओर बैठता है। E, A के
ठीक पास दाई ंओर समीप�थ है। मा� एक ��� D के दाई ंओर बैठता है। F, B के ठीक पास समीप�थ
नही ंहै। E और B के म� िकतने ��� बैठते ह�?

Ans 1. दो

2. तीन

3. एक

4. चार

Question ID : 26433055890
Status : Answered

Chosen Option : 1

Q.26 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� �� िच� (?) के �थान पर आएगी?
13, 14, 14, ?, 176

Ans 1. 42

2. 22

3. 38

4. 148

Question ID : 26433067645
Status : Answered

Chosen Option : 3

Q.27 एक िनि�त कूट भाषा म�, 'food is fresh' को 'dy in pq' के �प म� कूटब� िकया गया है, 'bring
fresh food' को 'tq pq dy' के �प म� कूटब� िकया गया है, और ‘food is hot' को 'dy in to' के �प
म� कूटब� िकया गया है। श� द 'fresh' के िलए िकस कूट का उपयोग िकया गया है?

Ans 1. pq

2. to

3. In

4. dy

Question ID : 26433056037
Status : Answered

Chosen Option : 1

Q.28 उस िवक� का चयन कीिजए जो उन अ�रो ंको िन�िपत करता है िज�� नीचे �र� �थानो ंम� बाएँ से
दाएँ रखने पर अ�र �ंृखला पूरी हो जाएगी।

_ZW_V_Y_WX_UY_W_V_ _ZW_VU
Ans 1. YXZUXZUYXV

2. XYUZVXZUXY

3. XYUZZVXUXY

4. YXUZVZXUYX

Question ID : 26433059872
Status : Answered

Chosen Option : 4
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Q.29 उस समु�य का चयन कीिजए िजसम� सं�ाएँ आपस म� उसी �कार संबंिधत ह� िजस �कार िन�िल�खत
समु�यो ंकी सं�ाएँ आपस म� संबंिधत ह�। (नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए
िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएं की जानी चािहए। उदाहरण के िलए 13 - गिणतीय संि�याएं
जैसे िक जोड़ना/घटाना/गुणा करना इ� यािद 13 म� िकया जा सकता है। 13 को 1 और 3 म� िवभािजत
करना और िफर 1 और 3 पर गिणतीय संि�याएँ करने की अनुमित नही ंहै।) 
(9, 55, 64) 
(7, 43, 50)

Ans 1. (4, 17, 21) 

2. (8, 32, 41) 

3. (7, 42, 50) 

4. (5, 31, 36) 

Question ID : 26433057439
Status : Answered

Chosen Option : 4

Q.30 'B % D' का अथ� है 'B, D का भाई है'।
'B & D' का अथ� है 'B, D की माँ है'।
'B × D' का अथ� है 'B, D का पित है'।
'B # D' का अथ� है 'B, D की बहन है'।
'B $ D' का अथ� है 'B, D का बेटा है'।
'B @ D' का अथ� है 'B, D के िपता है'।
िदए गए �ंजक के संबंध म� िन�िल�खत म� से कौन-सा कथन सही है?
P % Q $ S # R % U × T

Ans 1. S, T का साला है।

2. U, P की माँ का भाई है।

3. P, T का बेटा है।

4. P, T की बेटी है।

Question ID : 26433057297
Status : Answered

Chosen Option : 2

Q.31 यिद + का आशय – से है, − का आशय × से है, × का आशय ÷ से है और ÷ का आशय + से है, तो
िन�िल�खत �ंजक का मान �ा होगा?
64 × 8 ÷ 24 – 5 + 3

Ans 1. 7

2. 125

3. 64

4. 157

Question ID : 26433076711
Status : Answered

Chosen Option : 2

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.32 दो कथनो ंके बाद दो िन�ष� I और II िदए गए ह�। कथनो ंको स� मानते �ए, भले ही वे सामा� �प से
�ात त�ो ंसे िभ� �तीत होते हो,ं यह िनण�य लीिजए िक कौन-सा/से िन�ष� कथनो ंका तािक� क �प से
अनुसरण करता है/करते ह�।
कथन:
कुछ �खड़िकयाँ घर ह�।
कुछ �खड़िकयाँ छत ह�।
िन�ष�:
I. कुछ छत घर ह�।
II. कुछ छत �खड़िकयाँ ह�।

Ans 1. िन�ष� I और II दोनो ंअनुसरण करते ह�।

2. केवल िन�ष� II अनुसरण करता है।

3. न तो िन�ष� I और न ही II अनुसरण करता है।

4. केवल िन�ष� I अनुसरण करता है।

Question ID : 26433056055
Status : Answered

Chosen Option : 2

Q.33 सात ��� P, Q, R, S, T, U और V सीधी पं�� म� उ�र मुख करके बैठे ह�। U के दाई ंओर मा� दो
��� बैठते ह�। R के बाई ओर मा� दो ��� बैठते ह�। U और Q के म� मा� दो ��� बैठते ह�। R
और V के म� मा� तीन ��� बैठते ह�। T, U के ठीक पास म� समीप�थ नही ंह�। S, U के दाई ंओर
बैठता है। Q और V के म� िकतने ��� बैठते ह�?

Ans 1. 3

2. 1

3. 4

4. 2

Question ID : 26433055904
Status : Answered

Chosen Option : 3

Q.34

Ans 1. 180

2. 165

3. 184

4. 140

Question ID : 26433085365
Status : Answered

Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.35

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067456
Status : Answered

Chosen Option : 4

Q.36

Ans 1. 

2. 

3. 

4. 

Question ID : 26433055954
Status : Answered

Chosen Option : 1
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Q.37 उस समु�य का चयन कर�  िजसम� दी गई सं�ाएं आपस म� उसी �कार संबंिधत ह� िजस �कार �� म�
िदए गए समु�य की सं�ाएं आपस म� संबंिधत ह�।
(नोट: सं�ाओ ंको उसके घटक अंको ंम� िवभािजत िकए िबना, पूण� सं�ाओ ंपर गिणतीय संि�याएं की
जानी चािहए। उदाहरण के िलए 13 के मामले म� - 13 पर गिणतीय संि�याएं जैसे िक जोड़ने / घटाना /
गुणा करने की अनुमित है। 13 को 1 और 3 म� तोड़कर और िफर 1 और 3 पर गिणतीय संि�याएं करने
की अनुमित नही ंहै।)
(39, 81, 123)
(56, 32, 8)

Ans 1. (61, 57, 53)

2. (42, 33, 15)

3. (97, 63, 38)

4. (24, 35, 31)

Question ID : 26433067927
Status : Answered

Chosen Option : 1

Q.38 उस िवक� का चयन कर� , जो तीसरे श� से उसी �कार संबंिधत है, िजस �कार दूसरा श�, पहले
श� से संबंिधत है। (श�ो ंको अथ�पूण� िहंदी श�ो ंके �प म� माना जाना चािहए और श�ो ंको उनम�
अ�रो ंकी सं�ा / �ंजनो ंकी सं�ा / �रो ंकी सं�ा के आधार पर एक दूसरे से संबंिधत नही ंिकया
जाना चािहए।)
कवच (Shield) : गाड� (Guard) :: पाना (Spanner) : ?

Ans 1.  शॉट (Shot)

2. पीसना (Grind)

3. ि�प (Grip)

4. बढ़ाना (Amplify)

Question ID : 26433056594
Status : Answered

Chosen Option : 3

Q.39 यिद 30 अ�ैल 1983 को शिनवार था, तो 13 अग� 1989 को स�ाह का कौन-सा िदन था?
Ans 1. शु�वार

2. सोमवार

3. रिववार

4. गु�वार

Question ID : 26433057431
Status : Answered

Chosen Option : 3

Q.40 उस िवक� का चयन कीिजए जो उन अ�रो ंको िन�िपत करता है िज�� नीचे िदए गए �र� �थानो ंम�
बाएं से दाएं �िमक �प से रखने पर अ�र �ंृखला पूरी हो जाएगी।
T R _ _ Q T _ E W _ T _ _ W Q _ R G _ Q

Ans 1. D W S Q S F T W

2. D W R Q R F T W

3. E W R Q R F T W

4. D W S Q R F T W

Question ID : 26433067543
Status : Answered

Chosen Option : 2
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Q.41

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057533
Status : Answered

Chosen Option : 3
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Q.42

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056832
Status : Answered

Chosen Option : 4

Q.43 िदए गए िवक�ो ंम� से वह सं�ा चुिनए, जो िन�िल�खत �ंखला म� ��-िच� (?) को �ित�थािपत कर
सके।
112, 101, 91, ?, 74, 67

Ans 1. 82

2. 81

3. 80

4. 85

Question ID : 26433057026
Status : Answered

Chosen Option : 1
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Q.44 िन�िल�खत म� से कौन-सी सं�ा दी गई �ंृखला म� ��वाचक िच� (?) का �थान लेगी?

35, 51, 76, 112, ?
Ans 1. 158

2. 162

3. 161

4. 164

Question ID : 26433057332
Status : Answered

Chosen Option : 3

Q.45 िन�िल�खत म� से कौन-सा अ�र-समूह दी गई �ंखला को तािक� क �प से पूण� बनाने के िलए म� ��-िच�
(?) को �ित�थािपत करेगा?
KGB, JFA, IEZ, HDY, ?

Ans 1. BGK

2. GCB

3. GCX

4. GKB

Question ID : 26433056073
Status : Answered

Chosen Option : 3

Q.46 �ितमा अपने घर से िनकलती है और उ�र की ओर 29 m चलती है और िफर दाएँ मुड़ती है और 16 m
चलती है। अब वह िफर से दाएँ मुड़ती है और 17 m चलती है। वह िफर से दाएँ मुड़ती है और 21 m
चलने के बाद �क जाती है। अब �ितमा और उसके घर के बीच �ूनतम दूरी िकतनी है? (यह मानते �ए
िक सभी मोड़ केवल 90 िड�ी के मोड़ ह�)

Ans 1. 12 m

2. 13 m

3. 17 m

4. 18 m

Question ID : 26433058017
Status : Answered

Chosen Option : 2

Q.47 दो कथनो ंके बाद दो िन�ष� I और II िदए गए ह�। कथनो ंको स� मानते �ए, भले ही वे सामा� �प से
�ात त�ो ंसे िभ� �तीत होते हो,ं यह िनण�य लीिजए िक कौन-सा/से िन�ष� कथनो ंका तािक� क �प से
अनुसरण करता है/करते ह�।

कथन:
कोई भी िपन िटन नही ंहै।
कुछ िपन िव� ह�।

िन�ष�:
I. सभी िव� िटन ह�।
II. कुछ िव� िपन ह�।

Ans 1. न तो िन�ष� I और न ही II अनुसरण करता है।

2. केवल िन�ष� I अनुसरण करता है।

3. केवल िन�ष� II अनुसरण करता है।

4. िन�ष� I और II दोनो ंअनुसरण करते ह�।

Question ID : 26433056053
Status : Answered

Chosen Option : 3
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Q.48

Ans

1. 

2. 

3. 

4. 

Question ID : 26433056678
Status : Answered

Chosen Option : 3

Q.49 िन�िल�खत चार अ�र-समूहो ंम� से तीन एक िनि�त तरीके से समान ह� और एक अलग है। अलग अ�र-
समूह का चयन कर�।

Ans 1. EHJM

2. NPSU

3. SVXA

4. PSUX

Question ID : 26433057226
Status : Answered

Chosen Option : 2
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Q.50 िन� वग� के बीच के संबंध को सव��म �प से दशा�ने वाले वेन आरेख का चयन कर�।
बैग, चमड़ा, कपड़ा

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067226
Status : Answered

Chosen Option : 2

Q.1 यौिगक के नाम और उसके सू� का/के िन�िल�खत म� से कौन सा/से यु� सही है/ह�?
I. कै��शयम ऑ�ाइड - Ca2O
II. ए�ुिमिनयम ऑ�ाइड - Al2O3

Ans 1. केवल II

2. I और II दोनों

3. न तो I और न ही II

4. केवल I

Question ID : 26433054014
Status : Answered

Chosen Option : 2

Q.2 िकसी धारावाही चालक से जुड़े चंुबकीय �े� की िदशा �ात करने के िलए िन�िल�खत म� से िकस िनयम
का उपयोग िकया जाता है?

Ans 1. बाएं हाथ का िनयम

2. �ेिमंग के दाएं हाथ का िनयम

3. �ेिमंग के बाएं हाथ का िनयम

4. मै�वेल का कॉक�  �ू िनयम

Question ID : 26433059079
Status : Answered

Chosen Option : 3

Section : General Knowledge and General Awareness
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Q.3 िवजयनगर सा�ा� की �थापना िकस वष� �ई थी?
Ans 1. 1368

2. 1210

3. 1315

4. 1336

Question ID : 26433054200
Status : Not Answered

Chosen Option : --

Q.4 िन�िल�खत म� से िकस खेल/�धा� म� ‘फॉलो-ऑन’ श� �यु� होता है?
Ans 1. बैडिमंटन

2. फुटबॉल

3. ि�केट

4. हॉकी

Question ID : 26433054698
Status : Answered

Chosen Option : 3

Q.5 िन�िल�खत म� से िकसका उपयोग त�ाल ऊजा� बू�र के �प म� िकया जा सकता है?
Ans 1. केला

2. धिनया

3. लहसुन

4. नीबूं

Question ID : 26433054932
Status : Answered

Chosen Option : 1

Q.6 साव�जिनक सेवा के िलए रेमन मै�ेसे पुर�ार �ा� करने वाले �थम भारतीय संगीतकार का नाम �ा
है?

Ans 1. एमएस सु�ुल�ी

2. ज़ािकर �सैन

3. िब���ाह खान

4. भीमसेन जोशी

Question ID : 26433054407
Status : Not Answered

Chosen Option : --

Q.7 अ�ैल 2022 तक �ा� जानकारी के अनुसार, भारतीय संिवधान म� दी गई नाग�रकता की िन�िल�खत म�
से कौन सी िवशेषता सही नही ंहै?

Ans 1. एकल नाग�रकता की धारणा यूके के संिवधान से �े�रत है।

2. भारतीय संिवधान म� एकल नाग�रकता का �ावधान है।

3. लोग िवकास का लाभ केवल नाग�रक बनकर ही ले सकते ह�।

4. मतदान करने और रा�� पित और संसद सद� जैसे पदो ंके िलए चुने जाने की �मता दुिनया भर के
भारतीयो ंके िलए सुलभ है।

Question ID : 26433054517
Status : Answered

Chosen Option : 3
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Q.8 द�न के पठार के संबंध म� िन�िल�खत म� से कौन सा कथन सही है?
Ans 1. द�न का पठार पूव� म� ऊंचा है और इसम� धीरे-धीरे पि�म की ओर ढलान है।

2. द�न का पठार पूव� और पि�म छोर पर ऊंचा है और इसके क� � की ओर ढलान है।

3. द�न के पठार की ऊंचाई लगभग समान है।

4. द�न का पठार पि�म म� ऊंचा है और इसम� धीरे-धीरे पूव� की ओर ढलान है।

Question ID : 26433092850
Status : Answered

Chosen Option : 4

Q.9 1991 म�, भारतीय �पये अवमू�न िकतने चरणो ंम� िकया गया?
Ans 1. दो बार

2. तीन बार

3. चार बार

4. एक बार

Question ID : 26433059332
Status : Not Answered

Chosen Option : --

Q.10 42वां संशोधन अिधिनयम िकसके नेतृ� म� पा�रत �आ था?
Ans 1. मोरारजी देसाई

2. इंिदरा गांधी

3. चरण िसंह

4. राजीव गांधी

Question ID : 26433069872
Status : Answered

Chosen Option : 2

Q.11 िन�िल�खत म� से िकस अिधवेशन म� कां�ेस दो गुटो ंम� िवभािजत हो गई?
Ans 1. 1907 का नागपुर अिधवेशन

2. 1907 का सूरत अिधवेशन

3. 1908 का छोटानागपुर अिधवेशन

4. 1907 का कलक�ा अिधवेशन

Question ID : 26433064732
Status : Answered

Chosen Option : 2

Q.12 िन�िल�खत म� से िकसम� मानवािधकारो ंकी साव�भौिमक घोषणा के अनु�ेद 29(1) से समानता है
िजसम� कहा गया है िक "समुदाय के �ित, ��ेक ��� का कत�� है िजसम� अकेले उसके ���� का
�तं� और पूण� िवकास संभव है"?

Ans 1. िनदेशक िस�ांत

2. मौिलक अिधकार

3. सहकारी सिमितयां

4. मौिलक कत��

Question ID : 26433069871
Status : Answered

Chosen Option : 2
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Q.13 2022 बीिजंग शीतकालीन ओलंिपक म� िदए गए पदक "टोगं िशन" का �ा अथ� है?
Ans 1. टुगेदर फॉर अ शेयड� �ूचर (Together for a Shared Future)

2. टुगेदर िव केन अचीव (Together we Can Achieve)

3. टुगेदर फॉर अ स�ेसफुल �ूचर ( Together for a Successful Future)

4. टुगेदर एज वन (Together as One)

Question ID : 26433086727
Status : Answered

Chosen Option : 2

Q.14 ठंड के मौसम म� चे�ई का औसत तापमान िकतना होता है?
Ans 1. 20° - 21° से��यस

2. 24° - 25° से��यस

3. 29° - 30° से��यस

4. 32° - 33° से��यस

Question ID : 26433074146
Status : Not Answered

Chosen Option : --

Q.15 जनता के हाथ म� मु�ा + वािण��क ब�को ंका नकद भंडार ___________ कहलाता है, इसे 'उ�-
श��शाली मु�ा' भी कहा जाता है।

Ans 1. मु�ा गुणक

2. मौि�क आधार

3. वांिछत आरि�त िनिध अनुपात

4. अित�र� आरि�त िनिध

Question ID : 26433064106
Status : Answered

Chosen Option : 4

Q.16 िन�िल�खत म� से कौन-सा िवक� सही सुमेिलत है?
Ans 1. दाब की इकाइयाँ - पा�ल, बार और टॉर

2. िकए गए काय� की इकाइयाँ - �ूटन, पा�ल, बार

3. बल की इकाइयाँ - जूल, अ� वश��, टॉर

4. आयतन की इकाइयाँ – िकलो�ाम, �ाम, मीटर

Question ID : 26433064122
Status : Answered

Chosen Option : 1

Q.17 िन�िल�खत म� से िकस सं�था से मदन मोहन मालवीय का नाम संबंिधत है?
Ans 1. मोह�डन एं�ो-ओ�रएंटल कॉलेज

2. िहंदू कॉलेज

3. बनारस िहंदू िव�िव�ालय

4. फ़ोट� िविलयम कॉलेज

Question ID : 26433081950
Status : Answered

Chosen Option : 3
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Q.18 कॉिनफ़र, साइकैड और िज�गो पौधे िन�िल�खत म� से िकस पादप समूह से संबंिधत ह�?
Ans 1. �ायोफाइटा

2. आवृतबीजी

3. अनावृतबीजी

4. टे�रडोफाइटा

Question ID : 26433064111
Status : Not Answered

Chosen Option : --

Q.19 िन�िल�खत भारतीय शा�ीय नत�को ंम� से िकसे भारत और पूरी दुिनया म� ओिडसी नृ� शैली को
लोकि�य बनाने के िलए वष� 2000 म� प� िवभूषण से स�ािनत िकया गया था?

Ans 1. देबािसस पटनायक

2. केलुचरण महापा�

3. पंकज चरण दास

4. रा�ल आचाय�

Question ID : 26433074839
Status : Not Answered

Chosen Option : --

Q.20 कोपेन जलवायु वग�करण �णाली का कौन-सा समूह एड�ू (Aw) अ�र कोड �ारा िन�िपत िकया
जाता है, िजसे कभी-कभी 'सवाना' जलवायु कहा जाता है, यह भूम� रेखा के पास आईटीसीज़ेड (ITCZ)
के ठीक बाहर ��थत है?

Ans 1. आ��  उपो�किटबंधीय जलवायु

2. भूम�सागरीय जलवायु

3. उ�किटबंधीय आ��  और शु� जलवायु

4. समु�ी पि�मी तट जलवायु

Question ID : 26433055156
Status : Answered

Chosen Option : 1

Q.21 िन�िल�खत म� से िकसे 'इंकलाब िजंदाबाद' सू�वा� को लोकि�य बनाने का �ेय िदया जाता है?
Ans 1. सुखदेव

2. चं�शेखर आज़ाद

3. राम �साद िब��ल

4. भगत िसंह

Question ID : 26433066653
Status : Answered

Chosen Option : 4

Q.22 वष� 2011 म� भारत के िकस रा� म� िहंदू आबादी का �ितशत सबसे अिधक था?
Ans 1. राज�थान

2. आं� �देश

3. उ�र �देश

4. िहमाचल �देश

Question ID : 26433067206
Status : Answered

Chosen Option : 4
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Q.23 'द अन�ेिम�ड वन' ________ की एक नृ� िफ� है, िजसने �ाइट यूिनकॉन� इंटरनेशनल िफ�
फे��वल (WUIFF) म� '�ायोिगक िफ� (ए�पे�रम�टल िफ�)' और 'मिहलाओ ंपर िफ� (िफ� ऑन
वुमन)' की �ेिणयो ंम� दो पुर�ार जीते ह�।

Ans 1. अंजना घोनसगी

2. दीपा मेहता

3. ऊपाली ओपेरािजता

4. िच�ा िव�े�रन

Question ID : 26433054492
Status : Not Answered

Chosen Option : --

Q.24 ‘रोिलंग �ान’ िकन दो पंचवष�य योजनाओ ंके बीच लागू िकया गया था?
Ans 1. छठी और सातवी ं

2. पांचवी ंऔर छठी

3. चौथी और पांचवी ं

4. दूसरी और तीसरी

Question ID : 26433054586
Status : Not Answered

Chosen Option : --

Q.25 िन�िल�खत म� से कौन-सा �ोहार ि�पुरा से संबंिधत है?
Ans 1. खाच� पूजा

2. िब�

3. वांगला

4. कांग िचंगबा

Question ID : 26433054264
Status : Not Answered

Chosen Option : --

Q.26 ट� ाइ�ोरोमीथेन __________ का IUPAC नाम है।
Ans 1. ��सरॉल

2. �ोरोफाम�

3. �ीिचंग पाउडर

4. ब�जीन हे�ा�ोराइड

Question ID : 26433054909
Status : Answered

Chosen Option : 2

Q.27 कौन-सा िझ�ी-ब� कोिशका अंगक, िजसम� एकल िझ��यो ंसे िघरी एक छोटी थैली जैसी संरचना
होती है, कोिशका के पाचन-तं� के �प म� काय� करती है, जो कोिशका के बाहर से ली गई साम�ी को
कोिशका के अ�चिलत घटको ंको िन�ीकृत करने और पचाने की अनुमित देती है?

Ans 1. परऑ��सोम

2. पॉलीसोम

3. �ाइऑ�ीसोम

4. लाइसोसोम

Question ID : 26433055121
Status : Not Answered

Chosen Option : --
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Q.28 िन� म� से कौन भारतीय ओलंिपक संघ के �थम अ�� थे?
Ans 1. सर दोराबजी टाटा

2. एन रामचं�न

3. सुरेश कलमाड़ी

4. िवजय कुमार म�ो�ा

Question ID : 26433059386
Status : Answered

Chosen Option : 2

Q.29 िन�िल�खत म� से �ा खगोलीय िपंडो ंका िह�ा ह�?
I. तारे
II. �ह
III. चं�मा

Ans 1. I, II और III

2. केवल I और II

3. केवल II और III

4. केवल I और III

Question ID : 26433054940
Status : Answered

Chosen Option : 2

Q.30 परमाणु की संरचना की जाँच के िलए अन�� लॉर�स के साथ 1934 म� साइ�ोट� ॉन नामक उपकरण के
सह-आिव�ारक कौन थे?

Ans 1. एम.एस. िलिवंग�न

2. एन�रको फम�

3. अन�� रदरफोड�

4. जे.जे. थॉमसन

Question ID : 26433055752
Status : Not Answered

Chosen Option : --

Q.31 एडो� िहटलर की आ� मकथा ‘मीन कै� फ (mein kampf)’ मूल �प से िन�िल�खत म� से िकस भाषा म�
िलखी गई थी?

Ans 1. �� च

2. जापानी

3. अं�ेज़ी

4. जम�न

Question ID : 26433054174
Status : Answered

Chosen Option : 4

Q.32 खतोली का यु�, 1517 म� राणा सांगा के अधीन मेवाड़ रा� और ______ के बीच �आ था ।
Ans 1. इ�ािहम लोदी

2. िसकंदर लोदी

3. महमूद लोदी

4. बाबर

Question ID : 26433099210
Status : Answered

Chosen Option : 2
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Q.33 वायिलन वचु�असो, एल. सु�म�म िन�िल�खत म� से िकस संगीत शैली के िलए िव� �र पर �िस� ह�?
Ans 1. रॉक

2. कना�टक संगीत

3. िहंदु�ानी संगीत

4. जैज

Question ID : 26433055379
Status : Not Answered

Chosen Option : --

Q.34 िन�िल�खत म� से कौन कथक के लखनऊ कालका-िबंदादीन घराने से संबंिधत है?
Ans 1. पंिडत िबरजू महाराज

2. प�ा सु���म

3. गु� िबिपन िसंह

4. सोनल मानिसंह

Question ID : 26433054260
Status : Answered

Chosen Option : 4

Q.35 कै��शयम हाइपो�ोराइट को सामा�तः  _________ �प म� जाना जाता है।
Ans 1. बा�द

2. हा� गैस

3. बोद� िम�ण

4. िवरंजक चूण�

Question ID : 26433064126
Status : Not Answered

Chosen Option : --

Q.36 �िस� संगीतकार भजन सोपोरी िकस वा�-यं� से संबंिधत ह�?
Ans 1. शहनाई

2. सरोद

3. संतूर

4. िसतार

Question ID : 26433054398
Status : Not Answered

Chosen Option : --

Q.37 िन�िल�खत म� से कौन सा भारत के �मुख औ�ोिगक �े� का उदाहरण नही ंहै?
Ans 1. �गली �े�

2. छोटा नागपुर �े�

3. गुजरात �े�

4. उ�री मालाबार �े�

Question ID : 26433071609
Status : Answered

Chosen Option : 4
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Q.38 यौिगक और उसके सामा� सू� का/के िन�िल�खत म� से कौन सा/से यु� सही है/ह�? 
I. ए�ीन – CnH2n
II. ए�ेन – CnH2n-1

Ans 1. केवल II

2. I और II दोनों

3. केवल I

4. न तो I और न ही II

Question ID : 26433054908
Status : Answered

Chosen Option : 3

Q.39 लॉड� डलहौजी ने अवध को िकस वष� ि�िटश सा�ा� म� शािमल कर िलया?
Ans 1.  1856 म�

2.  1857 म�

3. 1855 म�

4.  1858 म�

Question ID : 26433055630
Status : Answered

Chosen Option : 1

Q.40 भारत के संिवधान के िकस अनु�ेद के अंतग�त रा�� ीय अनुसूिचत जाित आयोग की �थापना की गई है?
Ans 1. अनु�ेद 338

2. अनु�ेद 333

3. अनु�ेद 336

4. अनु�ेद 335

Question ID : 26433064710
Status : Answered

Chosen Option : 2

Q.41 31 व� दि�ण पूव� एिशयाई खेल ________ म� आयोिजत िकए गए थे।
Ans 1. इंडोनेिशया

2. मलेिशया

3. िवयतनाम

4. िसंगापुर

Question ID : 26433054686
Status : Not Answered

Chosen Option : --

Q.42 िन�िल�खत म� से �ा उप�ह इनसैट-1बी (INSAT-1B) का उ�े� नही ंथा?
Ans 1. रा�� ीय सीमाओ ंकी र�ा करना

2. मौसम की भिव�वाणी

3. आपदा चेतावनी

4. टीवी संचार

Question ID : 26433092847
Status : Answered

Chosen Option : 1
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Q.43 िकसान के अपने खेत म� खपत से अिधक उ�ादन के बीच के अंतर को ___________ के �प म� जाना
जाता है।

Ans 1. घरेलू खपत

2. उपभो�ा अिधशेष

3. िवदेशी खपत

4. िवपणन यो� अिधशेष

Question ID : 26433054638
Status : Answered

Chosen Option : 2

Q.44 _______ म� औरंगज़ेब ने बीजापुर को मुग़ल सा�ा� म� िमला िलया।
Ans 1. 1683

2. 1685

3. 1687

4. 1689

Question ID : 26433082066
Status : Not Answered

Chosen Option : --

Q.45 मौिलक कत��ो ंके बारे म� िन�िल�खत म� से कौन सा कथन सही नही ंहै?
Ans 1. संिवधान म� इनका समावेश अमे�रकी संिवधान से �े�रत था।

2. इ�� 42व� संिवधान संशोधन अिधिनयम, 1976 �ारा शािमल िकया गया था।

3. ये �कृित म� गैर-�ाियक ह�।

4. इनका उ�ेख संिवधान के अनु�ेद 51A के अंतग�त िकया गया है।

Question ID : 26433072912
Status : Answered

Chosen Option : 2

Q.46 �ंश रेखाएं (fault lines) ______ का कारण बन सकती ह�।
Ans 1. तूफान 

2. अचानक बा�रश 

3. बाढ़ 

4. भूकंप 

Question ID : 26433054060
Status : Answered

Chosen Option : 4

Q.47 भारत म� धम� के अिधकार के बारे म� िन�िल�खत म� से कौन सा सही नही ंहै?
Ans 1. ��ेक ��� को धम� चुनने और उसके अनु�प आचरण करने की �तं�ता है।  

2. जबरन धम�-प�रवत�न की �तं�ता।  

3. िकसी भी धम� को अपनाने, उसके अनु�प आचरण करने और �चार करने की �तं�ता।   

4. ��� िकसी भी धम� को चुन सकता है या िकसी भी धम� का पालन न करने का िवक� प चुन  सकता है।
  

Question ID : 26433054085
Status : Answered

Chosen Option : 2
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Q.48 भारत म� मतदान की आयु कब घटाकर 18 वष� कर दी गई? 
Ans 1.  1991 म�  

2.  1998 म�  

3.  2004 म�  

4.  1989 म�  

Question ID : 26433054095
Status : Answered

Chosen Option : 4

Q.49 बड़े फतेह अली खान और अली ब� जरनैल खान ने िकस घराने की �थापना की?
Ans 1. �ािलयर घराना

2. आगरा घराना

3. िभंडी बाजार घराना

4. पिटयाला घराना

Question ID : 26433054412
Status : Answered

Chosen Option : 4

Q.50 िन�िल�खत म� से िकस जनजाित �ारा देवी सर�ती की पूजा करने के िलए घूमर नृ� शैली को
िवकिसत िकया गया था?

Ans 1. गुज�र

2. सह�रया

3. गोडं

4. भील

Question ID : 26433072628
Status : Answered

Chosen Option : 4

Q.1

Ans 1. 1 + tan A cot B

2. 1 − cot A tan B

3. 1 – sin A cos B

4. 1 + cot A tan B

Question ID : 26433061929
Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude
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Q.2 7 सेमी ि��ा और 8 सेमी ऊँचाई वाले एक ठोस ल� वृ�ीय बेलन का कुल पृ�ीय �े�फल िकतना है?
(π = 22/7)

Ans
1. 

2. 

3. 

4. 

Question ID : 26433058977
Status : Answered

Chosen Option : 2

Q.3 दो सं�ाओ ं960 और 1020 का मह� तम समापवत�क (HCF) �ा है?
Ans 1. 60

2. 40

3. 80

4. 120

Question ID : 26433064879
Status : Answered

Chosen Option : 1

Q.4 Rs.18,000 के अंिकत मू� य वाले एक कं�ूटर को Rs.15,840 म� बेचा गया। छूट का �ितशत िकतना है?
Ans 1. 21.60% 

2. 21%

3. 13.6%

4. 12%

Question ID : 26433058135
Status : Answered

Chosen Option : 4

Q.5

Ans 1. cos 45° – tan 45°

2. tan 45° – sec 45°

3. sec 45° – tan 45°

4. tan 45°

Question ID : 26433075870
Status : Answered

Chosen Option : 3
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Q.6 छह टोक�रयाँ ह� – हरी, लाल, नीली, पीली, काली और सफेद। ��ेक टोकरी म� कुछ छ�े ह�। सभी छह
टोक�रयो ंम� छ�ो ंकी औसत सं�ा 38 है। यिद नीली टोकरी को हटा िदया जाता है, तो शेष टोक�रयो ं
म� छ�ो ंकी औसत सं�ा 34 हो जाती है। नीली टोकरी म� िकतने छ�े ह�?

Ans 1. 22

2. 37

3. 58

4. 45

Question ID : 26433058779
Status : Answered

Chosen Option : 3

Q.7

Ans 1. 20 

2. 160 

3. 120 

4.  800

Question ID : 26433076212
Status : Answered

Chosen Option : 2

Q.8

Ans
1. 

2. m + n

3. 2

4. m − n

Question ID : 26433072986
Status : Answered

Chosen Option : 3

Q.9

Ans 1. 17 �ितशत

2. 27 �ितशत

3. 47 �ितशत

4. 37 �ितशत

Question ID : 26433081566
Status : Answered

Chosen Option : 3
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Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 26433058931
Status : Answered

Chosen Option : 2

Q.11 0.04 और 0.36 के बीच म�ानुपाती �ा होगा?
Ans 1. 0.144

2. 1.2

3. 12

4. 0.12

Question ID : 26433062638
Status : Answered

Chosen Option : 4

Q.12 एक नाव 7 घंटे 30 िमनट म� 40 km धारा की िदशा म� और 25 km धारा की िवपरीत िदशा म� जा सकती
है। यह 10 घंटे म� 48 km धारा की िदशा म� और 36 km धारा की िवपरीत िदशा म� जा सकती है। शांत
जल म� नाव की चाल (km/h म�) िकतनी होगी?

Ans 1. 15

2. 12

3. 9

4. 6

Question ID : 26433071285
Status : Answered

Chosen Option : 3

Q.13

Ans
1. 

2. 

3. 

4. 

Question ID : 26433061882
Status : Answered

Chosen Option : 1
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Q.14 A और B एक काय� को �मशः  10 िदनो ंऔर 15 िदनो ंम� पूरा कर सकते ह�। उसी काय� के िलए उ�� कुल
Rs. 1,250 िमले। B का िह�ा �ा होगा?

Ans 1. Rs. 200

2. Rs. 600

3. Rs. 400

4. Rs. 500

Question ID : 26433064927
Status : Answered

Chosen Option : 4

Q.15

Ans 1. 18

2. 12

3. 16

4. 15

Question ID : 26433061928
Status : Answered

Chosen Option : 4

Q.16 एक िनि�त रािश म� से 20% और िफर शेष रािश म� से 10% की कटौती के बाद, Rs. 7,200 शेष ह�। मूल
रािश �ात कीिजए।

Ans 1. Rs. 10,000

2. Rs. 7,500

3. Rs. 9,000

4. Rs. 7,800

Question ID : 26433065058
Status : Answered

Chosen Option : 1
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Q.17

Ans 1. 70.75

2. 90.67

3. 63.5

4. 129.5

Question ID : 26433075246
Status : Answered

Chosen Option : 1

Q.18

Ans 1. 0

2. 27

3. 1

4. 23

Question ID : 26433061363
Status : Answered

Chosen Option : 4

Q.19 िदए गए �ंजक को हल कीिजए।
72 − 42 ÷ 6 of 7 × 4 of 3 ÷ 4 × 3 − 5

Ans 1. 58

2. 16 

3. 45

4. 32

Question ID : 26433061719
Status : Answered

Chosen Option : 1

Q.20

Ans 1. 56

2. 63

3. 65

4. 36

Question ID : 26433065038
Status : Answered

Chosen Option : 2
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Q.21 एक शहर की जनसं�ा 1,25,000 है। यिद वािष�क ज� दर 12.7% है और वािष�क मृ�ु दर 2.7% है, तो
3 वष� के बाद जनसं�ा म� िकतनी वृ�� होगी?

Ans 1.  43,285

2.  41,375

3.  42,565

4. 40,275

Question ID : 26433063945
Status : Answered

Chosen Option : 3

Q.22 एक कलाई घड़ी को उसके �य मू� के बराबर लाभ �ितशत पर ₹1,200 म� बेचा जाता है। कलाई घड़ी
का �य मू� �ात कर�।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433063396
Status : Answered

Chosen Option : 1

Q.23

Ans 1. 5

2. -5

3. दोनो ं5 और -5

4. 0

Question ID : 26433076000
Status : Answered

Chosen Option : 3
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Q.24

Ans 1. 88.85% 

2. 85.25% 

3. 102.35% 

4. 105.88% 

Question ID : 26433075537
Status : Answered

Chosen Option : 4

Q.25 वह सबसे बड़ी सं�ा �ात कीिजए जो 24, 56 और 96 को पूण�तः  िवभािजत करती है।
Ans 1. 8

2. 2

3. 4

4. 1

Question ID : 26433073060
Status : Answered

Chosen Option : 1

Q.26

Ans 1. 

2. 

3. 

4. 

Question ID : 26433079968
Status : Answered

Chosen Option : 2
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Q.27

Ans 1. 4160

2. 2770

3. 3470

4. 2080

Question ID : 26433063263
Status : Not Answered

Chosen Option : --

Q.28 एक ि�भुज की भुजाएँ 8 से.मी., 12 से.मी. तथा 16 से.मी. ह�। ि�भुज का �े�फल �ा है?
Ans 1. 24√15

2. 6√15

3. 8√15

4. 12√15

Question ID : 26433075476
Status : Answered

Chosen Option : 4

Q.29 यिद x + y + z = 8, और x2 + y2 + z2 = 20 है, तो x3 + y3 + z3 - 3xyz का मान _______ होगा।
Ans 1. 10

2. 15

3. 16

4. −16

Question ID : 26433066411
Status : Answered

Chosen Option : 4

Q.30 A, B और C के वेतन 2 : 3 : 4 के अनुपात म� ह�। यिद उनके वेतनो ंम� �मशः  30%, 20% और 10%
वृ�� हो जाए, तो उनके वेतन का नया अनुपात �ा होगा?

Ans 1. 22 : 11 : 18

2. 13 : 18 : 22

3. 22 : 18 : 13

4. 18 : 13 : 22

Question ID : 26433073017
Status : Answered

Chosen Option : 2

Q.31

Ans 1. 

2. 

3. 

4. 

Question ID : 26433099296
Status : Answered

Chosen Option : 3
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Q.32

Ans 1. 

2. 

3. 

4. 

Question ID : 26433099297
Status : Answered

Chosen Option : 4

Q.33 A एक काय� को 10 िदन म� कर सकता है। B इसे 15 िदन म� कर सकता है। C की सहायता से उ�ोनें
काय� को 5 िदन म� पूरा िकया। �ात कीिजए िक C अकेले इसे िकतने िदन म� कर सकता है?

Ans 1. 20

2. 25

3. 30

4. 35

Question ID : 26433074307
Status : Answered

Chosen Option : 3

Q.34 िन�िल�खत समीकरण को हल कीिजए।
123 × (162 − 142 − 40) ÷ 2 − 94

Ans 1. 9865

2. 10719

3. 17280

4. 6561

Question ID : 26433061294
Status : Answered

Chosen Option : 2

Q.35

Ans 1. 525

2. 625

3. 650

4. 550

Question ID : 26433073102
Status : Answered

Chosen Option : 3
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Q.36 दो उ�ीदवारो ंके चुनाव म�, 10% मतदाताओ ंने अपना मत नही ंिदया। िदए गए मतो ंम� से 10% अवैध
मत पाए गए। िवजेता उ�ीदवार को वैध मतो ंका 54% �ा� �आ और वह 1620 मतो ंसे िवजयी �आ।
मतदाता सूची म� उन लोगो ंकी सं�ा �ात कीिजए िज�ोनें मतदान करने के िलए पंजीकरण कराया �आ
है।

Ans 1. 24500

2. 25000

3. 25500

4. 26000

Question ID : 26433057123
Status : Answered

Chosen Option : 2

Q.37

Ans 1. 4000

2. 5000

3. 4500

4. 4025

Question ID : 26433066389
Status : Answered

Chosen Option : 4

Q.38 एक ि�भुज के दो कोण बराबर ह� और तीसरे कोण की माप 70° है। ��ेक अ�ात कोण की माप �ा है?
Ans 1. 75°

2. 55°

3. 65°

4. 45°

Question ID : 26433061357
Status : Answered

Chosen Option : 2
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Q.39

Ans 1. 74.6 �ितशत

2. 70.6 �ितशत

3. 73.6 �ितशत

4. 73.2 �ितशत

Q.40 एक दुकान म�, 8% की छूट �दान की जाती है। यिद छूट के बाद भुगतान की जाने वाली कुल रािश
₹5,000 से अिधक है, तो 20% की अित�र� छूट �दान की जाती है। एक �ाहक ��ेक ₹750 के मू�
के 12 उ�ाद खरीदता है, उसके �ारा भुगतान की जाने वाली अंितम रािश �ात कीिजए।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433074284
Status : Answered

Chosen Option : 2
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Q.41

Ans 1. 5 : 1

2. 1 : 1

3. 10 : 3

4. 20 : 3

Question ID : 26433075446
Status : Answered

Chosen Option : 1

Q.42 एक आयत का प�रमाप, एक वग� के प�रमाप के बराबर है। यिद आयत की लंबाई 10 cm और चौड़ाई 8
cm है, तो वग� का �े�फल �ा होगा?

Ans 1. 98 cm2

2. 81 cm2

3. 64 cm2

4. 72 cm2

Question ID : 26433063816
Status : Answered

Chosen Option : 2

Q.43 एक चुनाव म� दो उ�ीदवारो ंने भाग िलया। चुनाव म�, 65% मतदाताओ ंने अपने मत डाले, िजनम� से 3%
मत अवैध घोिषत कर िदए गए। एक उ�ीदवार को 81965 मत िमले जो कुल वैध मतो ंका 65% है। उस
चुनाव म� नामांिकत मतो ंकी कुल सं�ा िकतनी है?

Ans 1. 185000

2. 190000

3. 215000

4. 200000

Question ID : 26433061248
Status : Answered

Chosen Option : 4
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Q.44 दो रेलगािड़याँ A और B, दो अलग-अलग �ेशनो ंसे एक दूसरे की ओर 80 km/h और 82 km/h की
चाल से चलना शु� करती ह�। वे 1 घंटे 30 िमनट के बाद िमलती ह�। जब रेलगािड़यो ंने चलना शु�
िकया तो वे एक-दूसरे से िकतनी दूरी पर थी?ं

Ans 1.  262 km 

2.  243 km 

3.  224 km 

4. 190 km  

Question ID : 26433061164
Status : Answered

Chosen Option : 2

Q.45

Ans 1. A, 2011

2. D, 2014

3. D, 2012

4. B, 2014

Question ID : 26433074317
Status : Answered

Chosen Option : 4

Q.46 अिमत और सुिमत एक ही िबंदु से िवपरीत िदशाओ ंम� �मशः  6 िकमी/घंटा और 4 िकमी/घंटा की गित से
चलना शु� करते ह�। 4 घंटे बाद वे एक दूसरे से िकतनी दूर होगें?

Ans 1. 500 m

2. 40 km

3. 300 m

4. 35 km

Question ID : 26433061277
Status : Answered

Chosen Option : 2
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Q.47

Ans

1. 

2. 

3. 

4. 

Question ID : 26433061374
Status : Answered

Chosen Option : 2

Q.48

Ans 1.  16 cm

2.  12 cm

3. 24 cm

4.  18 cm

Question ID : 26433075902
Status : Answered

Chosen Option : 4

Q.49 एक ��� �थान A से B तक 12 km/h की चाल से जाता है और B से A तक 18 km/h की चाल से
लौटता है। पूरी या�ा के दौरान उसकी औसत चाल �ात कर�।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433073122
Status : Answered

Chosen Option : 4
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Q.50 एक ठोस धा��क अध�गोले का संपूण� पृ�ीय �े�फल 462 cm2 है। इसे िपघलाकर एक लंबवृ�ीय शंकु
के �प म� ढाला जाता है। यिद शंकु के आधार की ि��ा, अध�गोले की ि��ा के बराबर है, तो इसकी
ऊंचाई �ात कर�। (π =22/7 का �योग कर� )

Ans 1. 14 cm

2. 7 cm

3. 28 cm

4. 21 cm

Question ID : 26433075480
Status : Answered

Chosen Option : 1

Q.1 Select the option that expresses the given sentence in passive voice.
The officers kept us waiting for one hour.

Ans 1. We keep waiting for one hour.

2. We were kept waiting for one hour by the officers.

3. We are keeping waiting for one hour. 

4. We kept waiting for one hour. 

Question ID : 26433059124
Status : Answered

Chosen Option : 2

Q.2 Select the most appropriate meaning of the given idiom.

At the drop of a dime
Ans 1. Extremely easy to understand

2. A way of saying that you are happy to see someone

3. Something that can happen very fast without hesitation

4. Something that is not popular

Question ID : 26433091886
Status : Answered

Chosen Option : 3

Q.3 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
You must cut off your expenses if you want to save money.

Ans 1. cut out 

2. cut up 

3. cut down on

4. cut for 

Question ID : 26433059683
Status : Answered

Chosen Option : 3

Section : English Comprehension
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Q.4 Select the most appropriate meaning of the underlined idiom.
The mother-in-law deliberately rained on the new bride’s parade when she asked her to
change the dress of her choice.

Ans 1. Force traditions upon someone 

2. Make someone tearful out of viciousness 

3. To spoil a moment 

4. Save one from embarrassment 

Question ID : 26433060188
Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate synonym of the given word.

Erudite
Ans 1. Scholarly 

2. Impressive 

3. Lazy 

4. Excited 

Question ID : 26433058328
Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word. 
Prohibit

Ans 1. Assist

2.  Aid

3. Allow

4. Ban

Question ID : 26433059788
Status : Answered

Chosen Option : 4

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

They are cautious about their car as it’s door is broken.
Ans 1. No substitution required

2. because it’s

3. as it is

4. as its

Question ID : 26433060070
Status : Answered

Chosen Option : 4
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Q.8 Select the most appropriate synonym of the given word.
Impasse

Ans 1. Peaceful 

2. Resolution 

3. Deadlock 

4. Harmony

Question ID : 26433059199
Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate synonym to replace the italicised word. 
A shadow of guilt darkened his eyes.

Ans 1. impenitence 

2. innocence

3. remorselessness

4. remorse 

Question ID : 26433059642
Status : Answered

Chosen Option : 4

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The doctors have given off the case.

Ans 1. given out 

2. given over 

3. given forth 

4. given up

Question ID : 26433059682
Status : Answered

Chosen Option : 4

Q.11 Select the most appropriate ANTONYM of the given word.

Opulent
Ans 1. Flourishing

2. Insolvent

3. Depressed

4. Destitute 

Question ID : 26433088932
Status : Answered

Chosen Option : 4

Q.12 Select the most appropriate synonym of the given word.
Peril

Ans 1. Danger

2. Safety

3. Benefit

4. Doubt

Question ID : 26433059517
Status : Answered

Chosen Option : 1
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Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

Honour given for some achievement.
Ans 1. Party

2. Gift

3. Placard

4. Laurel

Question ID : 26433060101
Status : Answered

Chosen Option : 4

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

The scientific study of the behaviour, structure, physiology, classification and
distribution of animals

Ans 1. Zoology 

2. Petrology 

3. Archaeology

4. Ecology

Question ID : 26433060346
Status : Answered

Chosen Option : 1

Q.15 Select the option that can be used as a one-word substitute for the underlined group
of words.
The ducks were not afraid of the fast moving water.

Ans 1. Flood

2. Overflow

3. Torrent 

4. Current

Question ID : 26433060395
Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate idiom from the following options that can substitute the
underlined part of the given sentence.

It is his first interview, so he has a nervous feeling.
Ans 1. Butterflies in his stomach

2. A slap on the wrist

3. Icing on the cake

4. Tug at his heartstrings

Question ID : 26433058366
Status : Answered

Chosen Option : 1
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Q.17 Select the most appropriate meaning of the given idiom.
To pull someone’s leg

Ans 1. To talk something bad about someone

2. To joke with someone 

3.  To push a person

4. To talk something good about someone

Question ID : 26433060413
Status : Answered

Chosen Option : 2

Q.18 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.
He took a hurried glance / on the newspaper / and swiftly left for work.

Ans 1. He took a hurried glance 

2. and swiftly left for work

3. on the newspaper

4.  No error

Question ID : 26433060151
Status : Answered

Chosen Option : 3

Q.19 Select the INCORRECTLY spelt word.
Ans 1. Sermonise 

2. Chhivalrous 

3. Nefarious 

4. Acquittal 

Question ID : 26433060202
Status : Not Answered

Chosen Option : --

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Psychology and Sociology are very interesting science to study.
Ans 1. sciences to study

2. No substitution required

3. science to studies

4. science for study

Question ID : 26433060058
Status : Answered

Chosen Option : 1
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Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence.

They are looking to a place to rest.
Ans 1. looking into

2. should be looking

3. are looking for

4. have looking at

Question ID : 26433060272
Status : Answered

Chosen Option : 3

Q.22 Select the most appropriate meaning of the given idiom.
Salt of the earth

Ans 1. A very good and honest person 

2. Discovered after a lot of searching

3. Do anything possible

4. Choose one at random 

Question ID : 26433060466
Status : Answered

Chosen Option : 1

Q.23 Select the INCORRECTLY spelt word.
Ans 1. Purvey

2. Perspicuious 

3. Peruse 

4. Pervade 

Question ID : 26433060476
Status : Answered

Chosen Option : 2

Q.24 Select the option that can be used as a one-word substitute for the given group of
words.

Killing of a person by another
Ans 1. Genocide

2. Democide  

3. Euthanasia  

4. Homicide 

Question ID : 26433060349
Status : Answered

Chosen Option : 4

Q.25 Select the most appropriate ANTONYM of the given word.
Wily

Ans 1. Triumphant

2. Raunchy

3. Honest

4. Horrid

Question ID : 26433066098
Status : Not Answered

Chosen Option : --
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Q.26 Select the most appropriate synonym of the given word. 
Restrain

Ans 1. Constrain 

2. Assist

3. Free 

4. Allow

Question ID : 26433059792
Status : Answered

Chosen Option : 1

Q.27 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

My granny says that / it is quite all right / to get married young, / though I do not
absolute agree with her a bit on this.

Ans 1. to get married young

2. My granny says that

3. though I do not absolute agree with her a bit on this

4. it is quite all right

Question ID : 26433055589
Status : Answered

Chosen Option : 3

Q.28 Select the most appropriate meaning of the given idiom.

All ears
Ans 1. To scold someone bitterly

2. To not be vocal

3. To listening attentively

4. To listen to everyone

Question ID : 26433059530
Status : Answered

Chosen Option : 3

Q.29 Select the most appropriate phrase for the underlined segment in the given sentence.

My mother said, “You must pay attention to your studies.”
Ans 1. Act up to  

2. Concentrate on

3. Ask for

4. Back up

Question ID : 26433072821
Status : Answered

Chosen Option : 2
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Q.30 Select the most appropriate meaning of the underlined idiom.

He burnt his fingers by getting into others’ problems.
Ans 1. To get rewarded 

2. To get rid off 

3. To burn ones fingers 

4. To get into trouble 

Question ID : 26433088275
Status : Answered

Chosen Option : 4

Q.31 Read the given sentence and select the most appropriate ANTONYM of the word
‘Straighten’ from the following options.

The soldiers were crouching and crawling behind the fence to take a better shot at the
enemies and surprise them.

Ans 1. fence

2. surprise

3. enemies

4. crouching

Question ID : 26433089726
Status : Answered

Chosen Option : 4

Q.32 Select the most appropriate meaning of the given idiom.
Snowed under

Ans 1.  Calm 

2. Busy

3.  Silent 

4. Lazy

Question ID : 26433058566
Status : Answered

Chosen Option : 1

Q.33 Select the INCORRECTLY spelt word.
Ans 1. Exuberant

2. Membrane

3. Highlight

4. Solvant

Question ID : 26433060640
Status : Answered

Chosen Option : 4
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Q.34 Select the most appropriate idiom for the underlined segment in the given sentence.

Rajeshwar has a vision for capturing beautiful pictures of nature.
Ans 1. A high horse

2. Cry wolf

3. A cat nap

4. An eagle eye  

Question ID : 26433072819
Status : Answered

Chosen Option : 4

Q.35 Select the most appropriate ANTONYM for the underlined word in the following
sentence.

This is really an attractive painting made by the novice artist.
Ans 1. Expert 

2. Mature

3. Stylish

4. Apprentice 

Question ID : 26433093036
Status : Answered

Chosen Option : 2

Q.36 Select the most appropriate ANTONYM of the given word.

Colloquial
Ans 1. Slack

2. Formal

3. Slang

4. Informal

Question ID : 26433088134
Status : Answered

Chosen Option : 2

Q.37 Select the most appropriate option that can substitute the underlined segment in the
given sentence. 
The speaker is about to beginner his speech.

Ans 1. is about to beginning 

2. is about to begin 

3. was about to began 

4. was about to beginner 

Question ID : 26433059667
Status : Answered

Chosen Option : 2
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Q.38 Select the INCORRECTLY spelt word.
Ans 1. Wreak 

2. Wreathe 

3. Wriggle

4. Weggle 

Question ID : 26433060483
Status : Answered

Chosen Option : 4

Q.39 Choose the correct spelling of the underlined word.

The school calander this year has turned out really nice.  
Ans 1. celender

2. calender

3. calendar

4. calunder

Question ID : 26433059718
Status : Answered

Chosen Option : 2

Q.40 Select the most appropriate ANTONYM of the given word.

Awkward
Ans 1. Cordial

2. Adroit

3. Catchy

4. Tender

Question ID : 26433055885
Status : Answered

Chosen Option : 1
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Comprehension:
Read the passage carefully and answer the question that follows.

Humans are social animals by nature. To prosper in life, we require the company of others,
and the strength of our bonds has a significant influence on our mental health and happiness.
Being socially linked to people may help you cope with stress, worry and depression, increase
your self-esteem, bring comfort and joy, prevent loneliness, and even add years to your life.
On the other hand, a lack of strong social relationships might put your mental and emotional
health at in danger. Many of us use social media sites like Facebook, Twitter, Snapchat,
YouTube and Instagram to locate and communicate with one another in today's society. While
each has its own set of advantages, it's vital to realise that social media will never be a
substitute for genuine human interaction. In order to trigger the hormones that relieve stress
and make you feel happier, healthier, and more optimistic, you must interact with individuals in
person. Spending too much time on social media, ironically for a tool supposed to bring
people closer together, can instead make you feel more lonely and isolated, and aggravate
mental health issues like anxiety and depression. If you're spending too much time on social
media and are experiencing emotions of unhappiness, discontent, irritation or loneliness, it's
time to re-evaluate your online habits and establish a healthier balance.
Because social media is such a new technology, little study has been done to determine the
long-term effects, good or ill, of its use. Multiple studies, however, have linked extensive social
media use to an increased risk of melancholy, anxiety, loneliness, self-harm and even suicide
ideation. The purpose of social media sites is to capture your interest, keep you online, and
keep you checking your screen for updates. It's how businesses generate money. However,
much like a gambling addiction or a nicotine, alcohol, or drug addiction, social media use may
lead to psychological cravings. When you get a like, a share, or a positive reaction to a post,
your brain releases dopamine, the same ‘reward’ chemical that you get after winning at a slot
machine, eating chocolate, or smoking a cigarette,for example. The more you're rewarded,
the more time you want to spend on social media, even if it has negative consequences in
other areas of your life.

SubQuestion No : 41
Q.41 Which hormone is released in our minds when we receive a positive reaction to our

posts on social media?
Ans 1. Calcitonin

2. Dopamine

3. Adrenaline

4. Melatonin

Question ID : 26433074437
Status : Answered

Chosen Option : 2
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Comprehension:
Read the passage carefully and answer the question that follows.

Humans are social animals by nature. To prosper in life, we require the company of others,
and the strength of our bonds has a significant influence on our mental health and happiness.
Being socially linked to people may help you cope with stress, worry and depression, increase
your self-esteem, bring comfort and joy, prevent loneliness, and even add years to your life.
On the other hand, a lack of strong social relationships might put your mental and emotional
health at in danger. Many of us use social media sites like Facebook, Twitter, Snapchat,
YouTube and Instagram to locate and communicate with one another in today's society. While
each has its own set of advantages, it's vital to realise that social media will never be a
substitute for genuine human interaction. In order to trigger the hormones that relieve stress
and make you feel happier, healthier, and more optimistic, you must interact with individuals in
person. Spending too much time on social media, ironically for a tool supposed to bring
people closer together, can instead make you feel more lonely and isolated, and aggravate
mental health issues like anxiety and depression. If you're spending too much time on social
media and are experiencing emotions of unhappiness, discontent, irritation or loneliness, it's
time to re-evaluate your online habits and establish a healthier balance.
Because social media is such a new technology, little study has been done to determine the
long-term effects, good or ill, of its use. Multiple studies, however, have linked extensive social
media use to an increased risk of melancholy, anxiety, loneliness, self-harm and even suicide
ideation. The purpose of social media sites is to capture your interest, keep you online, and
keep you checking your screen for updates. It's how businesses generate money. However,
much like a gambling addiction or a nicotine, alcohol, or drug addiction, social media use may
lead to psychological cravings. When you get a like, a share, or a positive reaction to a post,
your brain releases dopamine, the same ‘reward’ chemical that you get after winning at a slot
machine, eating chocolate, or smoking a cigarette,for example. The more you're rewarded,
the more time you want to spend on social media, even if it has negative consequences in
other areas of your life.

SubQuestion No : 42
Q.42 What is the purpose of social media sites?
Ans 1. To keep people online by capturing their interests

2. To provide a platform to decrease loneliness

3. To provide a platform to replace physical interaction

4. To offer a platform for people with anxiety and depression

Question ID : 26433074436
Status : Answered

Chosen Option : 1
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Comprehension:
Read the passage carefully and answer the question that follows.

Humans are social animals by nature. To prosper in life, we require the company of others,
and the strength of our bonds has a significant influence on our mental health and happiness.
Being socially linked to people may help you cope with stress, worry and depression, increase
your self-esteem, bring comfort and joy, prevent loneliness, and even add years to your life.
On the other hand, a lack of strong social relationships might put your mental and emotional
health at in danger. Many of us use social media sites like Facebook, Twitter, Snapchat,
YouTube and Instagram to locate and communicate with one another in today's society. While
each has its own set of advantages, it's vital to realise that social media will never be a
substitute for genuine human interaction. In order to trigger the hormones that relieve stress
and make you feel happier, healthier, and more optimistic, you must interact with individuals in
person. Spending too much time on social media, ironically for a tool supposed to bring
people closer together, can instead make you feel more lonely and isolated, and aggravate
mental health issues like anxiety and depression. If you're spending too much time on social
media and are experiencing emotions of unhappiness, discontent, irritation or loneliness, it's
time to re-evaluate your online habits and establish a healthier balance.
Because social media is such a new technology, little study has been done to determine the
long-term effects, good or ill, of its use. Multiple studies, however, have linked extensive social
media use to an increased risk of melancholy, anxiety, loneliness, self-harm and even suicide
ideation. The purpose of social media sites is to capture your interest, keep you online, and
keep you checking your screen for updates. It's how businesses generate money. However,
much like a gambling addiction or a nicotine, alcohol, or drug addiction, social media use may
lead to psychological cravings. When you get a like, a share, or a positive reaction to a post,
your brain releases dopamine, the same ‘reward’ chemical that you get after winning at a slot
machine, eating chocolate, or smoking a cigarette,for example. The more you're rewarded,
the more time you want to spend on social media, even if it has negative consequences in
other areas of your life.

SubQuestion No : 43
Q.43 Select the most appropriate ANTONYM of the given word.

Discontent
Ans 1. Satisfaction

2. Relaxation

3. Approval

4. Serenity

Question ID : 26433074439
Status : Answered

Chosen Option : 1
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Comprehension:
Read the passage carefully and answer the question that follows.

Humans are social animals by nature. To prosper in life, we require the company of others,
and the strength of our bonds has a significant influence on our mental health and happiness.
Being socially linked to people may help you cope with stress, worry and depression, increase
your self-esteem, bring comfort and joy, prevent loneliness, and even add years to your life.
On the other hand, a lack of strong social relationships might put your mental and emotional
health at in danger. Many of us use social media sites like Facebook, Twitter, Snapchat,
YouTube and Instagram to locate and communicate with one another in today's society. While
each has its own set of advantages, it's vital to realise that social media will never be a
substitute for genuine human interaction. In order to trigger the hormones that relieve stress
and make you feel happier, healthier, and more optimistic, you must interact with individuals in
person. Spending too much time on social media, ironically for a tool supposed to bring
people closer together, can instead make you feel more lonely and isolated, and aggravate
mental health issues like anxiety and depression. If you're spending too much time on social
media and are experiencing emotions of unhappiness, discontent, irritation or loneliness, it's
time to re-evaluate your online habits and establish a healthier balance.
Because social media is such a new technology, little study has been done to determine the
long-term effects, good or ill, of its use. Multiple studies, however, have linked extensive social
media use to an increased risk of melancholy, anxiety, loneliness, self-harm and even suicide
ideation. The purpose of social media sites is to capture your interest, keep you online, and
keep you checking your screen for updates. It's how businesses generate money. However,
much like a gambling addiction or a nicotine, alcohol, or drug addiction, social media use may
lead to psychological cravings. When you get a like, a share, or a positive reaction to a post,
your brain releases dopamine, the same ‘reward’ chemical that you get after winning at a slot
machine, eating chocolate, or smoking a cigarette,for example. The more you're rewarded,
the more time you want to spend on social media, even if it has negative consequences in
other areas of your life.

SubQuestion No : 44
Q.44 Select the most appropriate title for the given passage.
Ans 1. Advantages of Social Media

2. Mental Health During Troubled Times

3. Social Media and Mental Health

4. Consequences of Social Media

Question ID : 26433074435
Status : Answered

Chosen Option : 4
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Comprehension:
Read the passage carefully and answer the question that follows.

Humans are social animals by nature. To prosper in life, we require the company of others,
and the strength of our bonds has a significant influence on our mental health and happiness.
Being socially linked to people may help you cope with stress, worry and depression, increase
your self-esteem, bring comfort and joy, prevent loneliness, and even add years to your life.
On the other hand, a lack of strong social relationships might put your mental and emotional
health at in danger. Many of us use social media sites like Facebook, Twitter, Snapchat,
YouTube and Instagram to locate and communicate with one another in today's society. While
each has its own set of advantages, it's vital to realise that social media will never be a
substitute for genuine human interaction. In order to trigger the hormones that relieve stress
and make you feel happier, healthier, and more optimistic, you must interact with individuals in
person. Spending too much time on social media, ironically for a tool supposed to bring
people closer together, can instead make you feel more lonely and isolated, and aggravate
mental health issues like anxiety and depression. If you're spending too much time on social
media and are experiencing emotions of unhappiness, discontent, irritation or loneliness, it's
time to re-evaluate your online habits and establish a healthier balance.
Because social media is such a new technology, little study has been done to determine the
long-term effects, good or ill, of its use. Multiple studies, however, have linked extensive social
media use to an increased risk of melancholy, anxiety, loneliness, self-harm and even suicide
ideation. The purpose of social media sites is to capture your interest, keep you online, and
keep you checking your screen for updates. It's how businesses generate money. However,
much like a gambling addiction or a nicotine, alcohol, or drug addiction, social media use may
lead to psychological cravings. When you get a like, a share, or a positive reaction to a post,
your brain releases dopamine, the same ‘reward’ chemical that you get after winning at a slot
machine, eating chocolate, or smoking a cigarette,for example. The more you're rewarded,
the more time you want to spend on social media, even if it has negative consequences in
other areas of your life.

SubQuestion No : 45
Q.45 Which of the following statements is NOT true?
Ans 1. Social bonds have a strong influence on our mental health.

2. Lack of social interaction may cause anxiety and depression.

3. Humans need to reassess their social media usage.

4. Social media can offer a substitute for real-life social interaction.

Question ID : 26433074438
Status : Answered

Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Last week, I made the mistake of revisiting the village where I grew up. It used to be a small,
friendly community with two farms and a number of old cottages round the village green. I
realised very quickly that although in (1)_______ ways it appears unchanged, in reality hardly
anything is the same. All the pretty cottages are there, of course, and both the traditional farm
houses. (2)_______, none of the inhabitants are country people. All of them are commuters,
who leave early every morning for the nearby town. Neither of the farmhouses are attached to
a farm these days; the land (3)_______ and is managed by somebody in an office
somewhere who has little interest in the village (4)_______. There are a few new houses but,
they have no local character. You can see the same style anywhere in the country. The whole
village, (5)_______, has been tidied up so much that it looks no more picturesque than any
suburban street.

SubQuestion No : 46
Q.46 Select the most appropriate option to fill in blank number 1.
Ans 1. many

2. few

3. such

4. much

Question ID : 26433060281
Status : Answered

Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Last week, I made the mistake of revisiting the village where I grew up. It used to be a small,
friendly community with two farms and a number of old cottages round the village green. I
realised very quickly that although in (1)_______ ways it appears unchanged, in reality hardly
anything is the same. All the pretty cottages are there, of course, and both the traditional farm
houses. (2)_______, none of the inhabitants are country people. All of them are commuters,
who leave early every morning for the nearby town. Neither of the farmhouses are attached to
a farm these days; the land (3)_______ and is managed by somebody in an office
somewhere who has little interest in the village (4)_______. There are a few new houses but,
they have no local character. You can see the same style anywhere in the country. The whole
village, (5)_______, has been tidied up so much that it looks no more picturesque than any
suburban street.

SubQuestion No : 47
Q.47 Select the most appropriate option to fill in blank number 2.
Ans 1. But

2. Because

3. As

4. When

Question ID : 26433060282
Status : Answered

Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Last week, I made the mistake of revisiting the village where I grew up. It used to be a small,
friendly community with two farms and a number of old cottages round the village green. I
realised very quickly that although in (1)_______ ways it appears unchanged, in reality hardly
anything is the same. All the pretty cottages are there, of course, and both the traditional farm
houses. (2)_______, none of the inhabitants are country people. All of them are commuters,
who leave early every morning for the nearby town. Neither of the farmhouses are attached to
a farm these days; the land (3)_______ and is managed by somebody in an office
somewhere who has little interest in the village (4)_______. There are a few new houses but,
they have no local character. You can see the same style anywhere in the country. The whole
village, (5)_______, has been tidied up so much that it looks no more picturesque than any
suburban street.

SubQuestion No : 48
Q.48 Select the most appropriate option to fill in blank number 3.
Ans 1. had been sold

2. sold

3. has been sold

4. sells

Question ID : 26433060283
Status : Answered

Chosen Option : 3
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Last week, I made the mistake of revisiting the village where I grew up. It used to be a small,
friendly community with two farms and a number of old cottages round the village green. I
realised very quickly that although in (1)_______ ways it appears unchanged, in reality hardly
anything is the same. All the pretty cottages are there, of course, and both the traditional farm
houses. (2)_______, none of the inhabitants are country people. All of them are commuters,
who leave early every morning for the nearby town. Neither of the farmhouses are attached to
a farm these days; the land (3)_______ and is managed by somebody in an office
somewhere who has little interest in the village (4)_______. There are a few new houses but,
they have no local character. You can see the same style anywhere in the country. The whole
village, (5)_______, has been tidied up so much that it looks no more picturesque than any
suburban street.

SubQuestion No : 49
Q.49 Select the most appropriate option to fill in blank number 4.
Ans 1. itself

2. herself

3. himself

4. themselves

Question ID : 26433060284
Status : Answered

Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Last week, I made the mistake of revisiting the village where I grew up. It used to be a small,
friendly community with two farms and a number of old cottages round the village green. I
realised very quickly that although in (1)_______ ways it appears unchanged, in reality hardly
anything is the same. All the pretty cottages are there, of course, and both the traditional farm
houses. (2)_______, none of the inhabitants are country people. All of them are commuters,
who leave early every morning for the nearby town. Neither of the farmhouses are attached to
a farm these days; the land (3)_______ and is managed by somebody in an office
somewhere who has little interest in the village (4)_______. There are a few new houses but,
they have no local character. You can see the same style anywhere in the country. The whole
village, (5)_______, has been tidied up so much that it looks no more picturesque than any
suburban street.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill in blank number 5.
Ans 1. of course

2. in fact

3. as a result

4. despite

Question ID : 26433060285
Status : Answered

Chosen Option : 2
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